ROUNDING & ESTIMATION

** NOTE:  The round off problems will be in DARK YELLOW & 


        The estimation problems will be in DARK BLUE

1.
Round 56.78 to the nearest whole number.


A. 57

B. 50

C. 60

D. 56

E. NH

2.
Round 174.689 to the nearest whole number.    


A. 200

B. 175

C. 174.70
D. 180

E.  NH

3.
Round 146.534 to the nearest whole number. 

4.
Round 7564 to the nearest hundred.

A.  600

B.  7500
C.  7600
D.  7560
E.  NH

5.       Round 46.768 to the nearest tenths.

A.  46.7
B.  46.8
C.  47.70
D.  50

E.  NH 

6.       Round 578.364 to the nearest hundredths.

A.  578.36
B.  600

C.  578.37
D.  580

E.  NH

7.
Simon has four class rosters.  The first roster has 24 students, the second  roster has 30 students, the third roster has 28 students and the fourth roster has 22 students on it.  Find the average of the student roster’s and round to the nearest ten.

A.  104

B.  28

C.  20

D.  40

E.  NH

8.
Round 398.2463 to the nearest hundredths.

A. 400

B. 398.20
C. 398.25    
D. 398.246
E.  NH

9.
Round 3.3999 to the nearest thousandths.

A. 3.34
0
B. 3.400
C. .3400
D.  3.034
E. NH

10.     Round 26.88 to  the nearest tenths.

A. 26.9

B. 27 

C. 268.8 
D. 26

E. NH

11.
Estimate the number of tennis balls on the court.   Each ball represents 10

            tennis balls.


                                                  
A. 500

B. 300

C. 600

D. 700

E.  NH

12.      Eight hamburgers for $3.95 each.  The closest estimate of the cost of these     

           hamburgers is _______.


A.  $24.80
B. $30.00
C.  $30.50
D.  $32.00
E.  NH

13.      The closest estimate of 932 X 79 is _______.

A.  900 X 70

B.  900 X 80

C. 1000 X 80

D. 1000 X 70

E.  NH

14.    The closest estimate of 7643 + 1536 + 6835 is __________.

A.  15,000
B.  16,000
C.  17,000
D.  18,000
E.  NH

15.     The closest estimate of 15½  + 6¼  is  _______.

A.  22

B.  21

C.  22.5
D. 23

E.  NH

16.      Estimate the number of ( in the rectangle below.  Each ( represents 9   

           bells.

((((((((
((((((((
((((((((
((((((((
((((((((
((((((((
((((((((

A.  135

B.  500

C.  150

D.  560

E.  NH

17.
The closest estimate of 9.64  X  8.75 is________.

A.  19

B.  72

C.  80

D.  90

E.  NH

18.       The closest estimate of 8457 minus 968 is __________.

A.  7000
B.  7500
C.  8000
D.  8500
E.  NH

           On problems 19 & 20 estimate the sum or difference.

19.     13½   +  20¾ 

20.     14 – 10½    
ROUNDING & ESTIMATION ANSWER SHEET

1.
Round 56.78 to the nearest whole number.


A.  57

B.  50


C.  60


D.  56

E.  NH

2.
Round 174.689 to the nearest whole number.    


A.  200


B.  175


C.  174.70

D.  180

3.
Round 146.534 to the nearest whole number.


Note:  The key digit column is in the tenth’s place, therefore round up one.


Answer = 147

4.
Round 7564 to the nearest hundred.

A.  600

B.  7500
C.  7600
D.  7560
E.  NH

5.       Round 46.768 to the nearest tenth.

A.  46.7
B.  46.8
C.  47.70
D.  50

E.  NH 

6.       Round 578.364 to the nearest hundredth.

A.  578.36
B.  600

C.  578.37
D.  580

E.  NH

7.
Simon has four class rosters.  The first roster has 24 students, the second roster has 30 students, the third roster has 28 students and the fourth roster has 22 students on it.  Find the average of the student roster’s and round to the nearest ten.



SOLUTION:  Step 1:  Add 30 + 28 + 24 + 22





Step 2: Divide the product, which is 104 by 4.





Step 3:  The quotient is 26.




Step 4:  Round 26 to the nearest 10.




Step 5:  26 is closer to 30.  So our answer would be E.
A.  104

B.  28

C.  20

D.  40

E.  NH
8.
Round 398.2463 to the nearest hundredths.

A. 400

B. 398.20

C. 398.25    
D. 398.246

9.
Round 3.3999 to the nearest thousandths.

A. 3.340
B. 3.400
C. .3400
D. 3.034
E. NH

10.
Round 26.88 to  the nearest tenths.

A. 26.9

B. 27 

C. 268.8 
D. 26

E. NH

11.   
Estimate the number of tennis balls on the court.   Each ball represents 10

          
tennis balls.


                                                     


Step 1  Each row of 3 represents







            90 balls rounded = 100

Step 2
100 + 100 + 100 + 100 + 100 + 100  = 600  
A.  500

B.  300

C.  600

D.  700

12.     Eight hamburgers for $3.95 each.  The closest estimate of the cost of these    

           hamburgers is _______.


A.  $24.80
B. $30.00
C.  $30.50
D.  $32.00
E.  NH

13.     The closest estimate of 932 X 79 is _______.

A.  900 X 70

B.  900 X 80

C. 1000 X 80

D. 1000 X 700 E.  NH

14.   
The closest estimate of 7643 + 1536 + 6835 is __________.

A.  15,000
B.  16,000
C.  17,000
D.  18,000
E.  NH

15.    
The closest estimate of 15½  + 6¼ is  _______.

A.  22

B.  21

C.  22.5
D. 23

E.  NH


Step 1:

Add the whole numbers 15 + 6 = 21


Step 2:

Add the fractions ½  + ¼ = ¾ 


Step 3:

Round ¾ to the nearest whole number = 1


Step 4:

Add 21 + 1 = 22

16.     Estimate the number of ( in the rectangle below.  Each ( represents 9   

           bells.

((((((((
((((((((
((((((((
((((((((
((((((((
((((((((
((((((((

A.  135

B.  500

C.  150

D.  560

E.  NH

17.
The closest estimate of 9.64  X  8.75 is________.

A.  19

B.  72

C.  80

D.  90

E.  NH

18.     The closest estimate of 8457 minus 968 is __________.

A.  7000
B.  7500
C.  8000
D.  8500
E.  NH

On #s 19 & 20 estimate the sum or difference.

19.    13½  + 20¾ 


SOLUTION:  Step 1:  Add the whole numbers 13 + 20 = 33




Step 2:  Break up ¾ to read ½ + ¼ 




Step 3:  Now add ½ + ½  + ¼ = 1¼ 




Step 4:  Add 1¼  + 33 = 34¼ 



The answer is 34¼ 

20.   14 – 10½ 


SOLUTION:
Step 1:  Round 14 to 14½ 




Step 2:  Subtract 10½  from 14½ = 4




Step 3:  Now subtract ½  – 4 = 3½   



The answer is 3½     
